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QUESTION 1

A system developer is involved in a project to onboard one trading partner. The trading partner is using EDIFACT. The
system developer is required to setup a Business Process (BP) to process the EDIFACT documents arriving in a
mailbox. Which out-of-the-box BP can be used for this purpose?

A. EDIEnvelope

B. EDIINTParse

C. EDIDeenvelope

D. EDlInboundMailboxExtraction

Correct Answer: C

QUESTION 2

What would cause the IBM Sterling B2B Integrator (SBI) database size to continually grow and thus impact
performance?

A. persistence level set to FULL

B. improperly sized database connection pools

C. index, archive, and purge services not running
D. incorrect number of database threads assigned

Correct Answer: C

QUESTION 3

A developer needs to set a default value if a particular element in Process Data does not exist. Given the following bpml
code, what is the correct corresponding rule?

<choicel
<zelects
<pase activity="SetbefaultFileSize"” ref="IsFiledizelNot3et?™/ >
</zelect>
<zequence name="SetletaultFilelize™>
<asszign to="FileZize">0</assign>
</ zsequence>
</cloicexs

A. FileSize =0

B. FileSize.length() = 0
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C. string(/ProcessData/FileSize) = 0
D. string-length(/ProcessData/FileSize) = 0

Correct Answer: D

QUESTION 4

A new IBM Sterling B2B Integrator (SBI) system is being designed for a client. The client will use a mix of document
storage types. To ensure the system stores all data in encrypted format, which security parameter must be set for this
deployment?

A. security. CERT_NAME=doccrypto

B. security.ENC_DECR_DOCS=NONE

C. security.ENC_DECR_DOCS=ENC_FS

D. security.ENC_DECR_DOCS=ENC_DB

E. security.ENC_DECR_DOCS=ENC_ALL

Correct Answer: E

QUESTION 5

A Business Process (BP) has been identified that failed due to an issue with the Lightweight JDBC adapter using a
database that is unavailable. The database has been made available again. The BP has no built in OnFault logic. To
reprocess the failed BP, which action to be executed is the most efficient for each of the failed instances?

A. Restart

B. Resume

C. Advanced Restart

D. Terminate and Resubmit

Correct Answer: B
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